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Please watch the online classes and answer the following questions.
https://youtu.be/_kEw3bidK70

https://youtu.be/S_79_YnJnKc

https://youtu.be/C3Qhq6rDNP0

1 point

[A] Avogadro

[B] Dalton

[C] Rutherford

[D] Niels Bohr

1 point

[A] Butane

[B] Ethane

[C] Propane

[D] Metahne

1 point

[A] Lead

[B] Uranium

[C] Aluminium

[D] Iron

1)“Atoms can neither be created nor destroyed.” This principle was given by __? *

2)Which among the following is major component of Gobar Gas? *

3)Carnotite is a mineral of which among the following metals? *

https://www.google.com/url?q=https://youtu.be/_kEw3bidK70&sa=D&source=editors&ust=1636391944303000&usg=AOvVaw0GIQs8k4SrIaYrRAKo2dY7
https://www.google.com/url?q=https://youtu.be/S_79_YnJnKc&sa=D&source=editors&ust=1636391944303000&usg=AOvVaw1gEClCsNZpmXqttvkv8ZUW
https://www.google.com/url?q=https://youtu.be/C3Qhq6rDNP0&sa=D&source=editors&ust=1636391944303000&usg=AOvVaw0gxt_SttjMJV9OrugDI-4J
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[A] Electrons are gained

[B] Electrons are lost

[C] Protons are gained

[D] Protons are lost

1 point

[A] Nitric oxide

[B] Nitrous oxide

[C] Nitrogen penta oxide

[D] Nitrogen

1 point

A] Elements

[B] Hydrocarbons

[C] Polymers

[D] Salts

4)Which among the following happens in an oxidation reaction ? *

5)Which among the following is called Laughing Gas popularly *

6)“Petroleum” can be categorised under which one of the following terms? *
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[A] Nitrogen

[B] Carbon dioxide

[C] Carbon Monoxide

[D] Chloro fluorocarbons

1 point

A] positrons

[B] electrons

[C] atoms

[D] neutrons

1 point

[A] Greenocite – Cadmium

[B] Ruby Silver – Lead

[C] Silestine – Copper

[D] Salt peter – Magnesium

7)Which one amongst the following is not a GreenHouse gas? *

8)What do the dots represent in the Lewis dot structures? *

9)Which of the following is a correct Ore-Metal pair? *



1 point

[A] number of protons in the nucleus of an atom

[B] number of electrons in a neutral atom

[C] number of neutrons in the nucleus of an atom

[D] None of the above
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10)Which of the following does not represent the Atomic number of an atom? *
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